MANUAL 2Park Up frame




NENEE B

bold M10x135
1504017 E

Washer Self-locking
Bold M10x70 nut M10
1504017 Self-loacking DIN?85-5

=
Plug SX12 x 80mm L

\ Use with all leveling

feet and frames

Screw M10x50 H
- T i
Washer M10 m
o, |

v

X

0

Mounting manual 2ParkUp

nut M10, DIN?85-8

Bolt M10x135
1504017

Washer MI10

Bolt M10x20 07092

1504017
Self-locking
nut MI10
DIN%85-5

Cap 80x50 m

The maximum adjustable height
is 80 to 100 mm

12 mm

- .




www.klaverfietsparkeren.nl
0528 - 74 52 00
info@klaverfietsparkeren.nl

3

-

N

= -

L

N
B
-t ".-r.‘_

>
]

2900

2750

P

2ParkUp AWB Side view

(maten in mm)




3052.5

1200

0sic

(measurements in mm)

2ParkUp AWB, h.2.h. 375 16 bp single-sided




* ol G ab
W& § 4 & &

L e e e w el W

2ParkUp AWB, h.2.h. 375 32 bp double-sided

2900

2750

(measurements in mm)




1200

240

3

!

_ ,

!

/.

Nantady

058
¢ K R
= e =

!

e i =

Ve . ]
/ \_Iivl.F.lm.Wﬁm_T-
RN A
.*MI&HHWMﬁ“WW%'_IM
(. .

| -
\ AY

(measurements in mm)

2ParkUp AWB, h.2.h. 400 16 bp single-sided



2900

3240

(measurements in mm)

2ParkUp AWB, h.2.h. 400 32 bp double-sided




Manual per
bicycle place
high & low




Bolt
SEVEQ) % wose
BICYCLE PARKING

10 lock nut

2x Bold DINF 500
CMBx20
y gutter




After mounting bicycle
place
check if it's working properly !

&x plate Screw
5T4,8x16




